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Which of the following statements is true in case of rule based system?
a. Knowledge is stored in database b. Knowledge is stored in the database in
encrypled form

¢. Knowledge is represented in the form d. All of these

of rule
In ANN , “NN” is based on:
a. Brain cell b. Blood cell
c. Both d. None
The links between the input and activation functions are called:
a. Synaptic weights b. Bias weights
c. Activation weights d. None

The activation function receives input from:
a. Summing junction b. Synapse
d

¢. Activation weights . Bias only

Linear combiner is also called as:

a. Adder b. Subtractor

c. Divisor d. Multiplier

What is a squashing function?

a. Adder function b. Multiplier function

c. Activation function d. All

The threshold activation range is:

a. Any valve from0to1 b. Any valve from -1 to +1
¢. Only0Oand1 d. Any valve from -0.5 to 0.5
The sigmoid activation range is:

a. Any valve from0to 1 b. Any valve from -1 to +1
¢. OnlyOand1 d. Any valve from -0.5 to 0.5
In sigmoid function, what is mean by parameter 'a'?

a. Slope function b. Slope parameter

¢. Rate of learning d. Weight factor

In multi layer feed forward network, middle layer is?

a. Activation layer b. Hidden layer

¢. OQutput layer d. Recurrent layer

In a recurrent neural network, which of the following is true?

a. There is no feedback loop b. There is feedback loop
¢. There is no output layer d. There is no input layer
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.Coment is-a-parent-of Dasher

[ Answer

a) What is Turing Test? o
b) What the ELIZA system? Deseri

Comet is-a horse y
Prancer is-a horse -

Coment is-a-parent-of Prancer
Prancer is fast

Dasher is-a-parent-of Thunder
Thunder is fast

Thunder is-a horse =
Dasher is-a horse -

Given the parent rule:
if ?x is-a horse
?x is-a-parent-of ?y
?y is fast
then ?x is valuable
a) Using DFS, find which horse is tai
b) Using Rules-chaining draw tl§
valuable”?

Using planning semantics, p
according to the question.
Initial:

2. Block D on top of Bloe
3. Block C, B on table.

n the architecture ol rule-based
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